27.40

18

20

1.50 g1
)

75 ‘ * I
! 4200
Weight: 2. 4kg
WA \ , .
o H8 M B a6005T5 JZ 1] RS K FH e B
Sign Date Material
g XTAMEN LANDPOWER SOLAR
N N LANDPOWER
Bt pin 2024/5/20 | W B 11 [
esigned| Scale N .. .
— : name mini rail
CI 3 LI o
Reviewed Unit
; R
it A v | o
Approved Rev. ) )




98.40

37.01

25
18
; o
2 L0
N
J — == ] Q |
77.02 f ‘ 27.70 ‘
50
1x Inner Hex Bolt M8x20
1x Spring washer M8
1x Al nut
Weight: 0.067kg
%4 H 8 M & J& 1T RHE K BH RE R,
Sign Date Material = XIAMEN LANDPOWER SOLAR
ol Lin |2025/5/27 [WBLL 11 [g
Scale ame Front Support
B AL
Reviewed Unit gﬁ o
1 N
?\:pprov%d ﬁ}gej’g V1.0 NO.




140.50

2.50

1x Inner Hex Bolt M8x70
1x Spring washer M8

1x Flat washer M8

1x Flange nut M8

|
T

/
/ 234.25

O
250 o
(90]
] . l_l
% 2Xx Inner Hex Bolt M8x20
120 2x Spring washer M8 50
2x Al nut

Weight: 0.33kg

%ﬁz % i ﬂvft {ﬁl JE 17T BAYR S BH B R,
ign ate ateria XIAMEN LANDPOWER SOLAR
L \+ LANDPFOWER
Bt Lin 2025/5/27 | tb Bl | 1.2 P
Designed| Scale N R S
- ‘ - ear oupport
H % LA R
Reviewed| Unit
- Hi'5
ft HE iR A%
Approved Rev. V1.0 NO.




28

o
~
—

40

23

R
2760 &
—
300
Weight: 0.091kg
/5 J’é’ ] \ N s
e HB M B aeoosts | g JZ BRI RE R
Sign ate  |Vateria L XTANBN LANDPOWER SOLAR
] Lin | 2024/5/20 [ BB e [
name Ballast Plate
W W |
Reviewed| Unit .
~ 5
i[;)kprox{/%d Wgej’g V1.0 NO.




IR ;) VA
| | | | | | | = ¥
b
// /,
81 300
Weight: 0. 22kg
" L . . .
B4 E]') {ﬁ MR pppy I 1] B R B BE R
1gn ate ateria . . XTAMEN LANDPOWER SOLAR
LS 2024/5/20 | bt B | 11 .
Designed Scale ﬁ%fl\
name Rubber pad
% LA
Reviewed Unit i
e 95
o fR A 7
Approved Rev. V1.0 NO.




2x Inner Hex Bolt M8x20
2xX M8 Spring washer

28
él)

-
&

14 140
Weight: 0.123kg
/5 VA \ \ PN
£ H % MR r1600515 JE T B K P fe R
Sign Date ateria XTAMEN LANDPOWER SOLAR
B o Lin 2024/5/20 | £ B 11 [ .
W W fir e splice
Review;(d Unit nm
o Rz
¥
iikprov%d ﬁ}gej’g V1.0 NO.




39.16

3.80

\

L

]
s

1x Inner Hex Bolt M8x25
1x Spring washer M8

1x Al nut
41.50
[oe)
1)
Weight: 0.049kg
o ,5(5., \ ~ N \
%4 EN I - SR T BAECR BH BE R B
Sign Date Material XIAMEN LANDPOWER SOLAR
Bl Lin o |2025/5/27 BB L1 [
g Scale ame End clamp 30
R L N VAN (R
Reviewed Unit e
T A N
Approved Rev. V1.0 NO.




	1.Mini Rail
	38.10°前后支撑-锁长边
	4. Ballast Plate
	5. Rubber pad
	6. Splice
	39.End clamp 30-Long side

